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Answer any ten of the follmving, questions in about 4 to § lines each. Each!
sub-question carries 2 marks - (2x10=20)

5 a) What is a portfolio and why do we have a portfolio ?

b) What is beta 7 What does it measure ?

(,) Write the formula for mean portfolio return for a poﬂf@ho of three assets”

(State any assumptions you make). . ! r

1 d) Name bond management strategies.

e)What 15&}{;’ and what does it measure ?
fy Whatis a ‘Collar’ ? :

-L,{_‘

g)’ What is a protectwep : '!

_stl)_ Compare market risk of developed and emerging econoniies.

formance of mutual funds.

{0 List the measures to evahl ate per
| L ) A ‘Sam irai Bonds’
j) YWIEL are  odiurai oOnGs

k) Whati§MSCI EAFE Index ? |
,_ 5. | | -
v [ Whatis a inCAPI_\é}?

SECTION - B

Answer any three of the foliowing {in about a page. s,a‘,h in case o_f theory questions).
' = .'-'s;‘ £
Each question carreis 5 markk ; : (5%31.35)

pzﬁ}] 2. What is investor life cycle ?E ng cut its importance. < i =.
w\k: 3. What is personal finance ? What are its components ? L\_, ;
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4.. Discuss arbittage pricing theory in brief.

. o, oo g § o e B B B B 6
5. What is utility mdfh'cjgencekcuwe ? Describe its properties in brief,

: .- | : ; :
6. Riskfree rate of return is 8% p- a. The mean return earned by the market index is

14% p.a . The beta df stock X is 1.25. Investors believe that the stock will
provide an expected return of 17% p.a. Is the steck X undervalued, overvalued

S rigi htly valued ? Bxgilain your working in brief.
| SECTION - C
I | ;1 ¥ L .‘ . - i . '~
Answer any thiee questions from this Section. (iri about three:pages in case of
. : g s i ! ey s
theory qliestions) Eack question carries 15 marks. : {3x15=45)

@ _JList the steps involved in portfolio management process. Discuss any two of
- them in detait. ' ; S S

8 Explain the GAPM, bringing out its limitations.

9/What is internationali investing ? What are the advantages and challenges of
international rnvestmgr ? Discuss. '

10. Following table describes the return earned by S & P CNX Nifty and a stock
drive inthe Ia}s_t year, '

'Return earned by stiock drive ' Refurn earned by § & P CNX Nifty.
10 - " 12
15 - i4

: A 11
‘ 14 | .10
.a{"g"“ &
il 5 - _ 9

16 i | : 13 .
18 4 -
) 4 1 _‘ 7 | |

D) Find the beta for tl‘ff; Stock drive.

ii) WWhat is-thb: characteristic line for the stock drive ?
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. 11. Following information periains to three mutual fu
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Mean Stadand ' ;
tandart
Mutual Fund | retum (%) . l_ . ota
j deviation (%)
p-a.
" Plasma 12 18

Endevour i 10 15 0.9 ;
Columbia i3 20 ... 1.2
Market index 11 17 1.00 |
Mean risk free rate was 6% p.a. Compute the Sharpe, Jensen and Treynor measure
and the market index and offer comments. b
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f) What is'Bond portfolio ?
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' SECTION~B -

: £50% vish soberimary DS stesmed Vi :
Answer any three of the follewmgk__;m_beug 8l pgge;ea;:h in case of theory ‘questions),
' Each questlon carnes 5 mark Y AR 30 . &Y (5%3=15)
et .

) bz What:sequﬁypertfelf@f’mane"g”em“éﬁ "_-'E><e‘ia|n’-*"“-'-»- R latoxg

B ”3n Exp!ain the emergzng oppertumt;ee In lnternatfehai fund management ;
: 2 fu‘y E . omiT

i + i Ll &
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- & What is Jenson’ s measure ? Explam A

2y i
5t i‘ﬁ. NS w*‘ L oD Ty

@* Explam pom‘oho management of funds rninsuranee compames

-~ @,&Mr Kumaris having units in g mutuelsjund {0 the pastthree years, He wants to
' evaluate its performance by companng itto the market
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Answerxany three questrons from this Section, (m about three pagesincase of

theory questuene) Each quesnen carrigs15. marlgsﬂ[ o, ¥ AtV e mﬂ\h,(ams 45);_
Whatis Pertfojzo performance eva!uaﬂon ? Expiam vatioys 1f~pds £t i0
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: ofportfolio-risk,
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i /S(Wha'tid'o You understand by Portfolio revision ? Discuss various constraints in
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@}Tﬁe investment portiolio.of 4 bank:sasfeﬂows -
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. F{s 100 per Bond ™ Dutatfdn-{yé.am).
- GOT 2006 | 1,68 106 50_-—__.:--_,_-:, F=r 350 .
GOt 2010 4, 755 10500 | gsg
—f G

—

Go1 2015 7.38 .+ 105.00 7.50
_.G01 2022 _ 835 -< | f{p00 _ 8.75
| Got 2032 795 101,00 ~13.00

Face value oftotal i [nvestment :s Rs.5 crore ineach Government Bond. Cafculate

actual investment in portfolio

What isa su;tabre actuon to churnout mvestmentporﬁoho in the foliowxng scenane ?

C gl InterestfateS‘are ‘expectedolovar by 25 basis: poinfs; - 7© LA

b) Interest rates are expected to raise by 75 basrs points, Di A Do

Also calculate revised duration of i mvestment portiolio in each soenano
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